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Sl (v ZFr B PERRE | HER | HER | WEE | 2HEE
TEERE GOl [P TAEEE % BFERT 30 25 83.33% 4.46 79.9
TE G62 | EARTHEEZ bHFERT 37 27 72.91% 4.45 85.3
TE2RE G63  |EREIEER BFERT 19 13]  68.42% 4.49 83.8
TEARE G65 |[{LEETREERZ BFERT 16 11 68.75% 4.31 82.1
T2 G66  |MARIFIERBL TR EE % BHFERT 26 20 76.92% 4.14 82.5
TE G67  |[FEELAZHTERT bFERT 17 11 64.71% 4.62 84.7
TE G68  |AEETAZHTERT bFERT 16 12 75% 432 84.7
TE U6l PR TAEEE 2 2 46 46 100% 431 73.2
TE U62 | EARTHEE % 20 36 36 100% 432 73.9
TE U63  |BRIETAEEE 2 2 20 19 95% 4.28 78.5
TE U6s  [EERTARER % 2 20 16 80% 4,01 71.4
TE U66 | PRI B TR EE 21 2 18 17 94.44% 4.35 714
SCERLGE Cl0  |>CEEkx K 4 4 100% 442 81.2
SCERLGE Cos  |E@EEHL At 82 78 95.12% 4.4 81
SR Gll  |TESCE A BHERT 25 20 80% 4.65 89.6
SR G2 |IMNERES R B5ERT 5 4 80% 4.25 78.8
SCERLGE GI3  |EREAR BHFERT 19 15 78.95% 479 88.2
SR Gl4  |EEFEREHTEAT BHFERT 9 8  88.89% 5 88.5
SR Gl5 | BE S ERBEsE S LZErT BHFERT 6 5 83.33% 4.89 84.4
SCERLGE G151 | bHFeRT 3 2 66.67% 4.57 87.5
SR NOIF  [SALAIEEES LR SR HEFEHEDR 32 32 100% 4.26 83
SCERLGE NI11 PR S EE 2 HEEED 32 32 100% 4.53 76.4
SR N2 |SMERESCER HEEZH 41 41 100% 4.45 76.9
SCERLGE UIOF  |&8 ASCAH 2 5 5 100% 4.3 85.8
SCERLGE Ull PSR B 2 34 34 100% 4.57 84.4
SCERLGE U2 |SMNERESCEE A 2 53 53 100% 438 83
SCERLGE Ul3  |ESREEAR 2 30 30 100% 4.51 82.3
AR B8O  |AzanHEElE BT 1 1 100% 4.48 934
AR C80 | A=anfiERhs oAt 1 1 100% 4.56 75
AR GOIH  |AFH5E bH5ERT 7 2 2857% 4.94 87.9
AR G19 | EREEEAYEREHITT bH5ERT 16 12 75% 4.8 88.8
AR G52 | A b5ERT 59 250 42.37% 4.55 85.7
AR G55 | AV bHFERT 31 15 48.39% 4.05 84.5
AR G58 | AEWHEERZE AT bHFERT 24 15 62.50% 4.28 84.2
AR G5 |V bHFERT 32 15 46.88% 4.55 84.7
AR U52  |AanftEE A B 51 46 90.20% 437 79
AR B70  [EEEERT bHFERT 2 2 100% 4.61 90
AR G22  |BIFEBUEHTERT bHFERT 22 19 86.36% 4.61 87.6
AR G244 |EEEEAR bHFERT 32 30 93.75% 4.61 87.8
AR G82 | AN KN FE T B5ERT 12 8 66.67% 4.68 88.5
AR GI1 BRI NS FE T bHFERT 12 10]  83.33% 4.6 89.7
AR 024 EEREEAR B 42 42 100% 4.45 76.1
B & M25  |BEREE L HAth 26 24 92.31% 4.16 85.1
B Co8  |HE=FE L HAth 261 253 96.93% 4.4 83
HEEAfE Gl7T  |ZORBIEHTERT bHFERT 8 4 50% 4.63 88.2
B GI8  |4eatE2bT5ErT B5ERT 9 7| 71.78% 4.4 84.2
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HEERRE GSO0F | FEEp5E WHERT 9 6]  66.67%|  4.67 90.5
HEERRE G51 |2 & WHERT 35 14 40%| 432 85.9
HEERRE G53  |FERBEE A WHERT 19 11| 5789%| 443 87
HEERRE G531  |FERBEE A WHERT 14 10 7143%| 424 86.1
HEERRE G54 |VpHER WHERT 11 3 2727%| 467 85.3
HEERRE G541 |PpHEEE £, WH9ERT 2 1 50% 5 88.6
HEERRE Us1 L2 A% = veiiy 70 63 90% 43 76.4
FEERRE US3  |FERBEE A Ef 44 44 100%|  4.29 73.4
HEERRE US3F  |FEFH#EE 4 i 9 9 100%|  4.19 67.2
HHER US3G  |fER#ZE A BT 7 7 100% 4.29 70.4
HEERRE US4A  |PBEEs 2, = veeiy 60 56| 9333%| 421 79.3
HHER U54B |V A 25t 20 17 85% 4.41 74.7
EFEER T NOO | RIRZAICGEEERLDE) HEREHS 37 37 100%|  4.58 79.7
&k C30 |EEBEHAERZN oA 5 5 100%|  4.41 79.3
&k G30F | S Bl REh 122 (i 2242 WERT 6 3 50%| 487 89.7
&k G30G e L e A2 WH9ERT 9 6| 66.67% 4.4 86.9
&k G31  |fEEAEEZ WH9ERT 20 7 35%| 421 81.4
&R G32 |EEEZ W7ErT 29 15| 51.72% 4.63 86.4
&k G33 |k A WHERT 36 11| 30.56%|  4.56 87.7
&R G34  |EFECTER 2 W7ErT 23 18|  78.26% 4.47 87.8
&R G35  |HEYIREEEE % W7ErT 25 18 2% 4.54 85.3
&R G36  |EEEAR W7ErT 20 12 60% 4.67 87.7
&R G37  |EMIRIE A W7ErT 30 11| 36.67% 4.12 86.4
&R G39 | TIEERIERLEE A WH7ErT 16 51 31.25% 4.74 88.1
=3 U G40 |AEVIEEIRE TR A BHIERT 22 10 4545%| 443 85.8
=3 U G4l |AEVIRHECER RS A BHIERT 57 23| 4035%|  4.65 87.5
=3 U G42  |KEARFFEE A BHIERT 28 20 71.43% 438 87.4
=3 U G43 | EmBEA AR A BHIERT 59 28| 47.46% 4.4 89.7
=&k G45  |EWEEE ESTAT WH7ErT 12 11| 91.67% 4.5 87.6
=&k G49 |tV Rk WH7ErT 7 40 57.14% 4.46 84.4
=3 U G50  |ESHEEIHERT BHIERT 29 14| 4828%|  4.54 88.9
=3 U G85  |BEE BHIERT 10 9 90%|  4.56 90.1
=3 U N46 AW e E T B B AR yiid el 23 23 100% 4.4 718
=3 U U30F | SR il i BB (i B2 A2 i 15 15 100%| 444 80.6
=3 U U30G  |AEWIRIERER LB AR 24Pt 9 6|  66.67%|  4.52 84.6
&b U30H  |BRERE b E 2 - 2R 2R 245t 14 12| 85.71% 4.24 83.4
=3 U U31  |2EhEEZ, EHf 25 20 80% 43 78.2
=3 U 032  |E#EEZ 24Pt 27 25| 92.59%| 436 80.5
=3 U U33A  |FbhE 4 245t 26 2| 84.62% 4.5 718
=3 U U33B  |#MhEE % E3f 23 21| 91.30% 438 79.1
=3 U U34  |EFECFEE 2 EHf 19 18| 94.74%|  4.33 80.8
=3 U U35 |FEYREEE 2 245t 22 200 9091%| 451 80.5
=3 U U36  |e@2 % E3f 23 2| 95.65% 444 76.3
=3 Ui U37 (BRI A E1-5f 31 27| 87.10%| 443 79.7
=3 Ui U39 | THEERIRLEE £ E1-5f 32 27| 8438%| 435 82.6
=3 Ui U40 | EVIEERE TR A E1-5f 25 25 100%|  4.15 77
=3 Ui U42  |KEARFFEE A 215t 28 28 100%| 4.3 76.5
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&k U43 | &inE SR 24Pt 34 21 1941% — 4.38 789
EERE G56  |EFRIERE TAREE £ WHERT 26 21 80.77%|  4.49 85
EERE Go4 | TIEE A WHERT 61 33 54.10%| — 4.58 86.2
EERE G93 MR TAZEAZEFT WHERT 4 1 25%| 455 90.2
EERE GY%  EETEHTEFT WHERT 1| 16.67% 4.5 87.9
EER US6 | &R TAZE £ = veeiy 23 200 86.96%| 434 73.6
EER U4 | TIEE A = veiiy 52 39 5% 432 79.3
EEER UGAF | E R 25t 2 2 100% 4.12 714
EER C40  |EHEE DT oA 3 2| 66.67% 43 89.1
ETRE B20  |EELEE WH9ERT 7 7 100%|  4.54 88.1
ETRER C20  |EHERLE FAh 25 24 96%|  4.19 79
ETRER G2l  |MBEREE R WHFERT 14 9 64.29% 4.2 87.9
ETRER G23 | EEHE A WH9ERT 14 11| 78571%  4.56 89.1
ETRER G26  |FHEHEZEFT WHFERT 13 10[  7692%  4.69 88.1
ETRER G261 |RIECEHERRSEAT WERT 5 3 60%| 475 91.6
BT G271 |EHEER W7ErT 55 47| 85.45% 4.36 91.4
ERRER G228  |FitE 4 WH9ERT 16 15| 93.75%|  4.38 91.7
ERRER G29 |EAEEEZ WH9ERT 14 9 64.29%|  4.34 89.9
ERRER G4 |(THHE 4 WHERT 11 10[  90.91% 4.5 88.3
BT G81 | E EAST T W7ErT 7 51 71.43% 4.51 89
BT NOIG BT EESEAS B 122 2218 HAEE 21 200 95.24% 421 78.7
BT 021 | MEBERE 2 i 13 12| 9231% 4.34 76
BT 023  |fREEHEA i 14 14 100% 4.54 84.9
ERRER U28  |&EtE% B 16 16 100%|  4.44 80.4
ETRERRE 029 |&EHEHEEA 24-Pf 22 18| 81.82%|  4.16 83.8
ETRERRE Ud4  |{TEHE 4 E3f 19 19 100%| 444 80
BREE 2T G38  |EREE A BHIERT 53 20| 5472% 447 89.2
BREE 2T G46 (A NS A BRI BHIERT 31 18| 58.06%|  4.67 86.4
BRE 2R GAT  |EREREEYIE AT BHIERT 30 15 S0%| 448 87.8
BREE 2T U3R  |EfEEEE A E3f 52 49| 94.23%| 453 79.4
A= M33  |HEE=E LAt 89 87| 97.75%|  4.54 86.2




